MONTY WALL HEADBOARD IU

FULL/QN/CK/EK
U /Q /C/ FURNITURE
ASSEMBLY INSTRUCTIONS b,
BOX#1 HARDWARE PACKED IN BOX#1
A. HEADBOARD PANEL 1PC
1 | ALLEN BOLT(1/4"x1") @x\\\\‘\“\\ 8 PCS
D
A 2 | ALLEN BOLT(5/16"x2") 8 PCS
3 | FLAT WASHER(5/16") 16 PCS
BOX#2 4 | LOCK WASHER(5/16") @ 16 PCS
L. LEFT HEADBOARD WING 1PC
R. RIGHT HEADBOARD WING 1PC 5 | ALLEN KEY(5/16" F L pc
6 | ALLEN KEY(1/4") F’ 1PC

MONTY WALL HEADBOARD ASSEMBLED | \ONTY WALL HEADBOARD ASSEMBLED
SHOWN WITH METAL BED FRAME.

UPDATED:JULY 25TH, 2022 *METAL BED FRAME NOT INCLUDED




MONTY WALL HEADBOARD
FULL/QN/CK/EK
ASSEMBLY INSTRUCTIONS

-

m

STEP 1:

HEADBOARD ASSEMBLY COMPLETE.

STEP 2:

UPDATED:JULY 25TH, 2022

HEADBOARD ASSEMBLY TO METAL BED
FRAME COMPLETE.




	页 1
	页 2

